~ aanenend (9)

_. _Qnsu%

woouj [euoneN ‘9
noooy awodu] 19N (P)
mopuj reuonoN (9)
munoedy Awouody (q)
7 aUI00U] REMWZ\?@
‘SuruLrojrad st Awro
xaﬁx_ ojyut 1y31s ur IULdjo
- JIWOUO0ID S m.:ﬁ:ou e
 samseow jey) wolshs wﬂnouﬁgn_
JUAWUIAA03 € S| . 'S

"2A0qE Y1 JO [[L.AP)
"WAY) 3urenjeAas pue
sapIjod d1ou0%2 UISO0YD J0

(@
"8unsesalo] oruwou

-003 pue uonNQLIISIPp SWOodUl

SWODUT [BUOTIBU 2} JO 2INIONIIS

pue uonisoduwod ay; Fumouy 1o,q (9)

AWIOU092 Ue Jo soueuLIOLIDd
241 Bunienteas pue SurzApeue 1o d (p)

i

‘Injosn h—@ﬁuﬁno

umoﬁ Josuon (p)

S wepy pue
QUO0IS PIeYdrY ‘sjouzny uourtg ()

u0Ig
ﬁhmnuﬂm puE sjouzny uowrs (q)
sjpuzny uowg ()

. Aq paiaduord
sem Burunoddy SWOodU] [euoney ¢

uonejuswa[dwy wresdoid pue
[eonsnelS [enua) jo Ansiuiy (pf
Qdueulq jo Ansturpy (9)
sareyjy [e100S Jo Ansturpy (g)
AX}Snpuj 7p 32I9WWO)) JO ASIULA ()

£SOTISIIE]S SJUNOJOY [eUOIjeN Jo uoy
-eqiduroo 2y} 10J erpuj ur ajqrsuodsas
ST ANSTUIjy SUIMO[[0] 3Y3 JO YOIYM ‘7
aA0qe JOo suoN (p)
(9) pue (v) yiog ()
SOTWOU0IH-OIIN (9)
SOTWOU00q-010eN_I7)

jo HQQUQCU € ST auwodu] [euoneN T

—ho_uUZﬂO._uS




00T 49 3 Bui[dymum
pue Jeak aures 3} 10y gqo Tesa
‘a1 £q 1e2 WAALS © UI @D [euTUIOY
oy} SUIPIAIP Aq P3lENIED S1 Yorym
xapur oud e st Pl
ddD 91e32133y 2)
da resy (o)
dap [eurwoy (g)
ddd [eucneyn (v)
—_—
“dao -gp
aeak Sununoosse =10
SuLp eIpuy ur Surar QUO[e eTpu]
JO Su9ZnId jo pasodwios sosrid
=IOJUS §SaUISNq pue sployasnopy

se papaesdaa o_n. Aewr

(P)

: erpujy
Ul £[9[0s. o1® $1SaI9IUT Srwounsa
°S0UM Juo pue 1eaf Sununoosoe
Y} BuLmp erpuy ur 3uiAl] uaaq
PeY yormym PloYyssnoy uaznmo vy

snje3s [e39] 10 Ajeuoneu
*} JO aapoadsoaar axowr 10 1ok
U0 10 Arjunoo Y1 Jo A1031119]
AIIOU099 31y} UT 15107 U DTWIOUODD
Weurmopaad Suiaey jmun oy,

)

(q)
erpuy ut
PreMIs Apojos sprun wononpoad
WM e1puy j0 wozno © 01 sSuO]
=9 Prym ssuidiorus ssoursnq v (?)
: sojousp
&n—mu Jo :omum.:..n.mUH- ay ur —Unwbuﬁ!:.—m
MHn Waprsax, jo jdeouod YL T1

.s_a_uuaon - Mgqo =4 0
, ¢™gan pre d09
"W3q dyysuoneer 241 ! ikl

40
AWOONI TVNOLIVN S

et A

_mﬁo_umz

YANN ()
dW

danN (2)
YaND (q)
“dao )

‘Papnpur
U399 aaey S9Xe], 10a11puy 1N (p)

SIIIAIG/Spoog 10] paiapisuos
U99q sey A1ojLiray Jlisawop ATug (9)
‘Papnpout aq oy oAy
S9JIAIBS pue spood [euy A[uQ (g)
; ‘uonenaidop
10} Spewr us3q sey uorsiaoad onr ()

jey) soyrusig dn ddo ur ssoro ‘g
SAOqE T JO [TY.4P)
‘PApPN[OUl Usaq aaey
(LIN) SoxXeL 300pu] 19N oYL (9)
“POATRDAI
Apisqns jo junowe sapnpxa [ (q)
‘pred saxe]
1021IpUl JO junowre’ sapnpuy I ()
ey
MI@o ul N 1EN, 8
aA0qe AU} JO SUON (P)
ssatdoad-ur-yiom (9)
[euy_(q)

ajerpauLIUl ()

soyrusis

-poriad uaaIs e Sur

-saxe], : i 0
P : 0 ATOJELID] dfjsawop
Mpuy 1o + Mygo = YdAN (P) pp ha ..:%wﬂ:%.a SOOIMDS

“ soxeL u:w:“.mm st 0 @ Jo 28IEA wmw_uwm
uoa_vcm_ ong - mEmQU = M IaN (2) Mm_uc.ﬁ..u a1 ©} mhuuwﬂu%mﬁawuﬂnwachw.h
o a ) e jonpoid ! Bt
zm_uv.._auﬁ % mEmQU G g S__ ﬂuu—hm-:- ~awoou[

jo 53da2u0) juaiayld
z'9

ZCE‘S,: wyaLad




© daD [PuIwoN 01 [enby skempy (o)

4 oaa1 2011 (
] [9A9] 2L
3O [99] Surpredaa
SNPUodJeYM ‘61'8L
¥e[Pd 49 YL €T
< dao reurwoN (p)
] > 4o [ewrwioN (9)
umA dd9 [eurwoN ()
2oy = 4D [eurwoN (o)

—udy} ‘g0 ueyy
ST ..Eusmaﬁ ddO 291 J1 ‘22

m.aw [e3Y 01 [enby skemy (p)

001 skemyy (q)
oxa7 m%ﬁ?jq (v)

ST 1eak Iseq Iy} 10} 10jR[JOpP oY)
‘TesA Iseq UL Sures 31} 3q Jsnu dao
221 pue @9 [BUlWOU DUI§ "7
9SaU3 Jo auoN (p)
$Z1 (9)
STIES9'T (9)
008 ()
CSLEPT st
AOIRPU JAD PUC SHUN OST I STJUD
jeuioN JI 4dD [¥9Y ST yeym -gg

@

UBLIND Jua.LInd (p)
aseq ‘aseq ()

..uz..ma_ Ua.LmMD 3&
TUDLITD .vwmﬂ Adv

EUETY

—————""" a1y} ut $2211d jJo [anra] oy
d jo [9AD

o etots 019D 409 L ‘61
. -ageuaatod oul 4O [BURLON (1
r puonenN 01 dd9 |82y ()
JED [ il

- 4q O ruonieN 01 dd

SNODINT IVNOLLYN 40 NOLLYNI
€9

jo uopeyndwos 10§ ﬁ-.-ﬁab.« ¥
o4} ST 3uImMofoy 3y} Jo U0 Yo

SuedwW $IVLg Jue.Lm)) e Jao

3say3 Jo SUON

soord Eﬁmnou e dan
dan [e2d

daD reuTHoN

(001) reax oseq -

X ok Juaimy oy 103 JAD.

Xopufy IesA E@E:U

* 1ead Juariny 21) 10f JAL
DL x ruak aseg oyl
Iseg x 120k JUSLIN

29y Sunnduod.

Xopuf Jeag juaLIn
(001) 1ok aseg




dND (7)
sooY) '9¢
suoN (p)
"aaos ©
NgaN @
NgaN @)
uod sS019)
somrod PN
st yeqm 'S¢
W3O (2
W 11O (2)

yeolqVv

m_zhwﬁ_.o ﬁ&u

e . ‘uoneu hnm. jo
4 3 _Eﬁwv_ Phpoig snssuwoq ssour) -g¢
4 SA0qE 33 jo suoN (p)

(9) pue (v) yrog (o)

| rended paxy jo uondumnsuoy (g)

[2A9]

2—.— t

{qy

'y

w& UM uy ‘610z
Y weyy soy3ny oxe spoas) 9oud

uonenaidaq ( v)

: . q..ﬁ@.z.- vﬂﬂ :Wmeuz
UIMIDq wopdunSIp jo siseq oy
~ ‘swodulfeuoneu jo sajedar3se sise
snotieAa Sunndwod AMIYM .

1202-020Z (p)
0202 (9)
£202-2207 (9)
cz0Z ()
’ ¢udfrey sey
Teaf yormgm uy j¢
020z (p)

€202 (9)

1202 (9)

610 (v)

¢1say3ryq si1 31
IeaA aseq a3y}

dud oy

€202 01 0zoz reak woxg °‘Of

asay} jo 2uoN (P)
izoz (@
0zoz (9
6102 (V)
Sdwes oy sxe gqo (22U PUC
PUrmon; oy reak gorym Ul 67
¢z-0z0T (P)
zz-0zoz (9
12-020C (9)
ozoz ()

(o) [eay uey) 1238313 S
ey [eay uey

ON 3y} aeak yorym uf ‘8¢

9
K43

16 NOLLYNIW¥ELEA

9A0Qe 1 Jo suoN 12)]
1202 (9)
0202 (9)
610Z (?)
CTE9R 25eq o sy reax qopym -7
Iorefraq

SL'6TI | 12°s¢T 80°IH1 m.ﬁ.mﬂLg— da9

EE 120z | 020z [610z] swax

[£-LZ suonsonb oty
19MSUe pue ejep 3umoyyoy arp .Hmﬁ.acow

(1€ 01 £7) suonsanp 10} wonon.gsuy

9593 Jo SUON (p)
£E€€R (9)
0ZI (9)
001 (»)
cA[Panoadsax gcp
PUE Ops aIe Jesg jua.im)) 1oy das
[e2¥ puUe [eUIWION JI Ie3f jworm>
243} Jo xapur oud oq} st Jeqp ‘97
9S3Yj jJo auoN (p)
ozr (2
011 (9
001 ()
¢IeIX JUILIMY) Ul Jojefja(
ddO 2q [ 184 M "0 [ [ O} SSSLI Xxapul
aouid pue s21012 OOZT 2 0} Sasearour
JaO [eurnuou 3y ‘reak jua.Lm) ayy uy
*§2.1010 (09 2 1 UIALS st xeaf aseq ayj
ur £nuno) € Jo g9 [eurtHou sy ] s
asay) Jo auoN (p)
reve (2
§09s (9
¥S°Z0P (?)
.g | st xopul oopd pue ¢/
st gao et Ja9 [euruou purLj ‘g
: amep 24 ued ToIsnjouo) oN (§2)]
wal [243] g ( 2)

quesuod pAUTe

9




e : (1500
10)0e) pue 2opd joyrew udIMIIq
uonodumSIp Jo siseq ay) st 1eymMm ‘1v
. . anoqe i Jo v (p)
"uor)
-e1021da(] — preoiqe wodj auoduf
aoey N + Mgan = MINN ()
.ﬁ..wo._ﬁﬁ wo.j 2uoouy
a01e) PN + “daN = ™dNN (9)
-uoneardag - MaNo = MINN ()
{IPDLI0D ST IUIMO[[O] ) JO YIIYM “OF
QA0QE aY] JO aUON] Cuv
__qﬁc.:_: :._C._._ SLLIODL]
J010E] 19N + [RUONRN = dnsawo] (2)
ﬂ‘._._,:_.__.r._._u_ _.:C._,_ SLIODU|
1010e] JON — D1ISOUIO(] = [RUOT}eN] (q)
,__,_ﬁ:,:,_: _r:D;._ ....._.__:u___..__
10198] 1aN + d0sawo(] = [euoneN (1)
L ONSIWO(], pue  euonen,
U29M 12 UOHOUNISIP Y} ST YIIYAL *6E

PeoIqe oty swoouy
1010wy N - Myao = A_En_ZO

(P)

uoneaadag - "y = MAND (9)
PLOIqE wWouy swoouy

10108 JaN 4 .:,.._C: - _:aa_ZG (q)

uonepatdaq + ™M yqo = W IND (1)
. C pd

201 Joyrey | e
dND Jo uoneinduios A0 . ;

: 1Poaaon g
vnuLoy u:_Bc::m ay) jo I

Yomym ge
.J:_— 1O UE:Z A..UV

A
dan > "gNg (o)

.._2:_ (8]

§'9

HWOONI TvNoy
VN 40 No1y
LVNIW

I R (9)
‘ &a...mﬁ@ = ms_nmzo (V)

N uuﬁ -Qb.m.ﬁmma SI

ooul Jgo1ej 1PN JI'LE
ﬁg.-nmﬂ wo.y auIx :

AW
uoreroaidad + awgqo = "ddN (7)

dan jo uoneyndwod

_ AU

opn[oXe e JUIUIISIALI
MM%:%,%_ pue spoo3 rended (2)

"VLIN - (A10ILLI9)
onsauwop ut paured auI0oUut w%aumb
(14 = dwoou] [euoneN = “dNN (9)

959y} apN[2Ul jou SA0p JAD
NQ SL9sIA0 SUDIOM SIUIPISIL
ueIpuf pue SEaSIaA0 suonelodiod
uerpuy jo sdurwrea sapnpPur gN9 ()

JUAWIAIR]S 19ILI0D I} IS00Y) ‘9f
25aYJ Jo 2UON (P)
uonenaxdaqg — ““qaN = “qan (2)
uoneaadaqg + ™yago = "qan (9)
uonenaidaq - "gqo = "gan (@)
d("aan) 1PNPOoIJ d1SIUO(] SSOI9)
Pue (""gaN) 1onpoag snsswoq 19N
u29mIaq drysuoneraa ayy st jegm 'S€
SOXEL Wampuy yoN + Mgao (P)
uoneaadac - “yqo (9)
152,2._4.\

YU dodeg joN - Yaqo (9

peoaqy
q19N + ;zn_ﬁ_mu (V)

oy suio

Cr_O._,_ DU [-10)0w

ST N g sooud 191 n.
e : . . ¥
¥ dnpouy [euoney ssox9 :
2r0qe oy jo auoN (P) g? <
_ SIIpIsqns sopnoxo .ﬂ?
nq saxe : .
Nq soxey Paapuy yo aarsnout st ? .

:c._E_u....,.n_L_u J0 uoh
2 [endes 5o aarsnpout St (4)
.:nu_._ﬁ_E:mc:u__
PUe o dyy NSUoo (e

~dumsg

NerpauLiapul )
ndensopnpox? (7



COME q
RMINATION OF NA S 9
6.6 DETE A6 g-nrOHaEchﬂcgdm .uﬂ#md.a HE \Qn:\"
n
42. The basis of distinction Jo“tna :en_%w:c‘ﬁdwm#rnzm&aﬁmuggﬁs G* 0%
market price and factor cost I d (a) Gross National Product at Factg, @ o
(a) Net factor income from m?,wm Cost pe?”’
(b) Net indirect taxes (i.e., Indireet (b) Net National Product at meﬁ he g
taxes - Subsidies) Price 50- .H.Qn. C
(¢) Net indirect taxes (i.e., Indirect (c) Gross National -uﬂon_zrﬁmﬁgmlﬁ §o° QUM
taxes + Subsidies) Price :& ¢
A TaX
(d) Depreciation (consumption of o) Net Nationdl Prodldia: Pand o)
fixed capital) Cost (b) %muc
43. Mixed income of the self- - is Gross Domg il "
employed means: . tic Product (GDP) plus net factoy .E Qm.
(@) Zmﬂvwo%_“m wwnm?ma by sell- 4 come from abroad. Ta
u emp Mwm people \ o (a) Net domestic product ) %mw
(b) Outside wages received by sell- ey
employed people (b) Gross national product Wh
(c) Combined factorpaymentswhich ~ (¢) Netnational product mrcn de
are not distinguishable (d) Gross domestic product M_—u_u.w
(d) Wages due to non-economic 48 Consider the following state- @) Ne
activities ments.
44. If net factorincome m-da abroad (i) NNP (at market price) = GNP (at (b) De
is positive, then: market price) Depreciation = ° 5 Ne¢

(a) national income will be greater
than domestic factor incomes.

(b) national income will be less than
domestic factor incomes.

(¢) net exports will be negative

(d) domestic factor incomes will be
greater than national income

45. The formula to calculate Net
Domestic Product is:

(a) GrossNational E.omﬁn_“\_umﬁwnﬁm-
tion

(b) Gross domestic product - Depre-
ciation

(c) Grossdomestic Eomcnﬂ + De

pre-
ciation

(d) Gross National prodyct +D

epre-
ciation

(i) NNP (at factor cost) = NNP (at

market price) + indirect taxes sub-
jects.

Which of the mcnci_bm is CORRE
(a) Both (i) and (ii) are TRUE
(b) (i) is TRUE and (i) is FALSE
(¢) (i) is FALSE and (ii) is TRUE:
(d) Both @ and Q& are mﬁ.ﬁmm

49. What is the formula to ocnn D
Operating mﬁ.ﬂ—ﬁmu

b

- Compensation of mam._o
Depreciation

(b) Gross Value Added at H..NQQ

+ Compensation of Employ
Depreciation | .



Gross Value Added at Market Price
J ﬁcaﬁmummzsz of ma_&ouﬁﬁm

Gross Value Added at Factor Cost

©

@ _ compensation of Employees +
pepreciation ,
50. The formula to compute GDP at
factor Cost is:
(@) GDP at Factor Cost - Indirect
Taxes - Subsidies :
-8 ﬁwv GDP at Market Price - Indirect
net Taxes
tor () GDP at Market Price - Indirect
it : Taxes + Subsidies
et 5 (d) GDP at Factor Cost + Indirect
. Taxes - Subsidies
2 m. 51, Which of the foliowing needs
ct #4 to be deducted to derive NDP from
_m. (a) Net Sales
!ﬁ%m& (b) Depreciation

(c) Net Profit
(d) Net Loss
52. Normally, NNP at market prices
is higher than NNP at factor cost
because
(a) Indirect taxesexceed government
subsidies.
(b) Government subsidies exceed
Indirect taxes.
(¢) Indirect taxes equal to govern-
ment subsidies.
(d) Depreciation is always Nil.

53. In a particular year, the value of

nominal GNP of an economy was

? 9,000 crores. The value of GNP

of that economy n—n—_nulb%l Wnommﬁﬁﬂm
t the

e 000 crores. The

base year, was Z10,
___E:nu,om GNP deflator for that year

in percentage terms W

DETERMINATION OF NATIONAL INCOME

(a) 110%

(b) 111%

(c) 90%

(d) 10%
54. The value of NDP at FC will be

__, if the following information
is given:-

GNP at MP : % 15,000 _,“

Depreciation : £1,000 i
NFIA Z 800

Net Indirect Taxes : < 1,500

(a) 11,700 _.
(b) T 16,000

(¢) 16,800

(d) None of these

55. Which of the following formula ,
to be used for deriving GNP at Mar- |
ket Prices? : .

(@) NNP at Market Prices + Deprecia-
tion
(b) NNP at Market Prices - Deprecia-
tion
(¢) NNP at Factor Cost + Deprecia-
tion
(d) GNP at Factor Cost - Deprecia-
tion.
56. Which of the following is the
correct formula? . I —c

(a) Net Domestic Prod
cost) = Gross Don
(at Market Pri

(¢) NetDomestic
Prices) = Gros:
(at Market Pri
(d) GrossDomest

cost) = Net D
factor costs)



2 w_-.-
e INCOMIES 32. ic
__.,._.___:z_za___:z:__.z;::zz :: ﬂ_:_zr.:_—,‘_
6.8 | -+ price index : P
w. () Consumer pl e U
. . e = ; . 1
$7. Which bf :-,. -.“u”..“..ﬁt_:h o () GDP dellator qm.—& ___._...p-u.:-_
SROERNAHaIAL H Wt 62. Which of the following i nog () w__._n outP
(i LA .5 included in Domestic Income) . -,:s_ cu
] ) . f C
(/) NNP at I (@) Wage & Salaries W wr._.n.a::_
() GNP at MP qest & Dividends . nal |
bh) Interest vidends AT
() GNP at FC : ned fr . nu .—._n—_—. n
) 1) Income carned from abrogg ( jativ
58. In which type of economy, (¢ : 1 (
iy . R al natio- 1) None of the above um.ﬂ_n
domestic income is equal 10 1% ¢ ¢ Ev (@ £
nal income? 63. Which of the ._c::eE:m will giye irmhu.- -
(¢) Flexible Economy Personal Income? mq._u_n of tra
(h) Rigid Economy (a) Private __:.r”::mw - _rwg_ﬂz:,wr_.:mn_. w“”u O—QQWG
(¢) Open Economy Corporate Prolits _:.:... Taxeg gions
() Closed Economy (b) Private ::..u::p._.. 1 CE__&_,&E& b mcwo_m..
: m Corporate Profits - Profits Taxeg ( Jigent
59. Which of the following is not a » . Undices dilg
component of operating surplus? (¢) Private _:o:::“ + ::v.:.__ugma Compe!
2. _ Corporate Profits + Profits Taxes (c) r
(@) Compensation ol Employees N0 _uﬁomum
e (d) Private Income - Undistributed All of t]
. (#) Interes Corporate Profits - All Taxes ) #
(¢) Royalty 64 68, Which ¢
(d) Rent 0 | to national
. E=
. P t ¢ .
60. What is the formula to compute rivate Income 3 _—c.cco ting person
Operatizg Surpius? Undistributed : 2,000 (a) Transfi
(@) Gross Value Added at Factor Cost | Corporate Profits () Undis
- Compensation of Employees + | Profit Taxes . | 500 porat
Repreciation What is Personal Income? PRl |
(b) Gross Value Added at Factor Cost (@) T7.500
+ Compensation of Employees + ’
Depreciation (b) 8,000
(¢) Gross Value added at Factor Cost () 8,500

- Compensation of Employees -
Depreciation

(d) GrossValue Added at Market Price
- Compensation of Employees

61. The ratio [(Nominal GDP)/(Real
GDP)] is known as:

(@) Wholesale Price Index
(b) GNP deflator

(d) %10,000
65. When imports exceed exports,
which of the following is incorrect?

(a) Net income earned from abros
is negative

(b) Domestic income will be different
from national income ;

(¢) Domestic income is
national EOOmem



y Natt wonal moome is more than

K MRESRC N0 Qme.,
» n
s The GDF per capita is
3 MSAEsUre Q1

a

a country’s econo-
mie ouiput pey Person

NETSONS

&) DAt al iIncome rﬁ,z.wr.wn;& by pOpu-

,‘ 4
wmion

..w?a./.ﬁ

«... :.wrr of the following is an ex-
ample of transfer Pavment?
2) Old age pensions and tamily pen-

SONs

'w f& Ir .

») Schol ﬂf.r:wf. given to &r!nj,ﬂa
diligent students.

«) Compensation given for loss of
property due to floods
All of the above

8. Which of the following is added
to national income while calcula-
ting personal income?

@) Transter pavments to individuals
&) Undistributed profits of cor-
porate
! Transfer payments made to for
eigners
@) Mixed income of self employed
69. What is the relationship of

Disposable Personal Income (DI)
and Personal Income (PI)?

(@) DI = PI + Personal Income Taxes
+ Non-Tax Payments

(5) DI = PI - Personal Income Taxes
+ Non-Tax Payments

{c) DI=PI- Personal Income Taxes
_ Non-Tax Payments

(4) None of the above

DETERMINATION OF Nariona INCOMy

) actual cwrrent income receipts of

6.9

w Y
70. ¢ cd.:r_ﬁ. the __..___-:S.__:.. data:

...!,f.i..E..,fI: QF _
r./w. at .(:. B —
c..,::

_.J._n m:.ﬂ/ i :::.. _ S—

: m.n:
Net Factor income ,.:c —
from abroad
Net indirect Taxes | ..9.5 |

Calculate NDP Ef.....m“f = TR
r,. ﬂ
r.r.J < 8,900 . _.

(@) None of these

8,550

71. The net domestic product at mar
ket price of an economy is ¥ 6,400
crores. The Capital Stock is worth
T 6,000 crores and it depreciates at
the rate of 10% p.a Indirect Taxes
amounted toT 290 Crores, Subsidies i
amounted to ¥ 30 Crores, Factor In- !

come from the rest of the world is ¥
500 crores & to rest of the world is
¥ 650 Crores. What will be GNP_?

(@) ¥ 7,190 Crores
(b) ¥ 6,590 Crores
(¢) 6,330 Crores
(d) T 6,180 Crores

72. Consider the —..G——QEE Eou.

mation:

GNP,

Consumption of f
capital

Factor Income _w.o .
mcnowm

NDP

MP




N OF NATI . a
6.10 umamwzhzﬁ_o p.., =% 15,053 Crores E\mnn L
; idies- 75- N T 335 Cr P ?n%n
unt of subs n—.mu.ﬁnﬁ Taxes = .d_n.ﬂw " 1€
Calculate the amo In " £ 14,980 Crores 1M "0 cre !
(a) T 40 crores NNPc = the amountof sub ¢ _unwﬁm
e
(b) % 50 crores Eﬂmr sﬁwmmﬁﬁ o st %ﬂn 7585
nd N€ _ a
(d) None of these. od (a) 569 ﬁS 55 9
73 Calculate consumption of FIX€® .y 73 crores & 262 crores, ©) S
Capital from the following &m,nm,. o (2) T 335crores & ¥ 189 crores, d) Non€
e i ﬂmani”ﬁu @ 3 189 crores & ¥ 335 croreg, 9. QZ.—JM“
Particulars 6.25 | . mvhir ot
NNP at Factor Cost e 76. The GDP wm&nn_ﬁ ww_“m of 3 @ N 5
GDP at Market Price ’ country in a _ur Netfor | Was ¥ 7€
S | e come e M
150 d Net tactor abroaq |
{ Net Factor Income an .7 1671 croresan dz107 Ouowmm Anu con:
| from Abroad | o were : ' ro
: % 450 Crores if the Value of Net Indirect Taxe . z€
(a) rore was T 210 Crores. What is aggregate ( _&_ Non
(b) ¥ 550 Crores value of Depreciation? : .
(¢) T 650 Crores _ : : .
- (@) ¥ 126 Crores nm_.n-.-_ﬂu
(d) None of these v (b) % 142 Crores \l__.u\.l.i.ﬂ
{ i a: .Whi
74. ﬂ_onm-m__nn ﬁ..ﬁ _mc_:wg_hm . m (c¢) T 336 Crores Mm circul
_ Crores (d) None of these _ (@) Gel
ncaﬁms_mwmcu of Employ- | 1,200 71. NNP,, =X 2,550 Crxofes (b) Dis
| ees _ | Indirect Taxes = X 209 Crores
Operating Surplus 2400 | gybsidies = T 32 Crores
. MMMMME_EQ pftixed 459 Net Indirect Taxes = ¥ 177 Crores.
employed =X 28 Crores. P
Net Indirect Tax 540 Personal Income = ¥ 2,215 (
Rent 660 What is the amount of N
Profit 960 Income? e
Net factor Income from -60 (@) T 3,059 Crores
abroad \

Which of the following is incorrect?
(@) GDP at MP =% 5,940 Crores,
(b) GNP at MP =% 5,880 Crores.
(¢) NNP at MP =% 5,400 Crores,
() NNP at FC £ 5,940 Croges,

—

(b) 2,673 Crores |

(c) 2,645 Crores

(d) None of these
78.GNP, =% ..mm_,w_,mw.__”.



.ﬁu&mﬂhﬁn Tax = e N‘mwc ngnnﬂw.
factor Income from abroad -

»
MAM 40 Crores.

nu_n—_?nn Domestic Income,
@ # 58,590 Crores :

®) Z 56,965 Crores
© Z 55,915 Crores
(d) None of these -
79. GNP, is equal to NNP . When:

(a) Net factor income from abr
ZEero

(b) Net Indirect tax is zero

(c) Consumption of Fixed Capital is
. Zero

(d) None of the above

1

Circular flew of Income

80. Which of the following is a phase

of circular flow of Income?

(@) Generation Phase

(b) Distribution Phase

(¢) Disposition Phase

(d) All of the above ,
81. Which onie of the following State-
ment is false as regards the concept
of flow? - .

(a) Flow variable refers to that vari-
able, which is measured over a

period of time

(b) Flow has a time dimension as its
magnitude can be measured over

a period of time-
(c) Flow is 4 static concept
d) All of the above .
% nt phases in

82. There are 3 &moun.unm. Which one
circular flow of incont is relation

oad is

DE
..-,m-wngP.ZOZ OF NATIONAL INCOME

(a) Real Flow

(b) Money Flow

(¢) Consumption Flow
. (d) Generation Flow ‘

6.11

(@) Production Phase
(b) Income Phase

(¢) Expenditure Phase
(d) Any of the above

83. The expenditure phase of circu-
lar flow of income is related with

— .

(@) Generation of Income
(b) Distribution of Income
(¢) Disposition of Income
(d) Production of Income

84. “Distribution of income” is relat-
ed with which of the following phase
of circular flow of income?

(a) Production Phase
(b) Income Phase

(c) Expenditure Phase
(d) None of the above

85. is the flow of goods i
and services between firms and
households.

86. Which of the following is correct
about Money Flow? ¢

(a) It is the flow of money between |

firms and households I

() It involvs ._.p___,.m _

() Itisalso .

- (d) All of th

87. Real flow
factor servie

(a) .firms t¢
(b) househ
(c) firms t
(d) Housel




1I||||!

ONAL INCOMF .zn::
12 DI TERMINATION OF NAT? . ) mnﬁﬁﬁ Ad¢
6. 4 Ju
Administrgg e
tlon, Banking, lom ) -
88. Which one of the following Is & Delence. - v e |
Stock? thod -3 fro™
Stoc (a) Income Methoc m_\.n jing
(@) Wealth (h) Expenditure Methaod a‘ﬁﬁ—h _th* ]
) Fraiis () Value Added Methaod P int© re
(«) Exports () Profit Method _ﬁ“_ﬂ-_:bw Al
(d) Saving e foll @) O
93. Which of the following iy ok
89. Which one of the following is of the three commonly Iahoh b 8 Kk
NOT a flow? methods for calculating a country, ) SLoc
(@) Incom national Income? 4 .,.w-:h_w b
(&) Depreciation (a) Market Realisation method ia.-—ﬁ a
(¢) Capital (b) Value Added Method uaﬂp—. Q—.n.t
(d) Investment (¢) Import Substitution nd.—bn”-ﬁhn“ nug_
90. Which M&..“r-. .Hc::ei:n is inclu- )y 14 flation Adjustment method prod dt
a_e& :.. Rea -._ ow? o4. The method of ng. nun-ﬂuun J
(a) Flow of Services tional income measures the contri. .........\.m..n“M—ﬂ |
(b) Flow of Goods bution of each t-..x_:nm:nns-n-ﬂt. (@) S

(c) Both (a) and (b)
(d) Neither (a) not (b)

91. Which of the following is Con-
sidered as a part of nominal flow in
the circular flow of income?

(a) Flow of factor Payments from
firms of household

(b) Flow of goods and Services from
firms to households.

(c) Flow of factor Services from
household to firms.

(d) All of these

Methods of Measurement of
National Income in India

s
——————

92. Under which of the follo

methods of computing an:”.—..“n_
income, the production value of
following sectors are added up- Ag-
riculture, Manufacturing, Construc-
tion, Transport and Communica-

in the domestic territory of the
country.

(a) Income

(b) Expenditure
(¢) Product

(d) Turnover

95. Which of the following is not
the method of measuring national

income?

(@) Produet Method

(b) Income Method

(¢) Profit Method

(d) Expenditure Method .
96. ‘Estimating net value added
cach producing enterprise as
as each industrial sector and ad

ing up the net value added by a
n’...g-.-u-—..g.' ronsidered fo

calculating National Income
which of the qo——eaq_ﬂh_ nethc

(a) Profit Method .
(b) Income Method

3
'



I. . papenditure Method
_.
_: r;_..__.. u.__;.,._ __ﬁ_.._—.:__

li
i any, must be de-

ik «om the vi
m:_._kr_ from the value added while tion
%_n:_w::n national Income as per (b)) GNP at Market Prices ¥
. _rn —._\C-.__.:..— ?‘—A..——.::_. as it A-.x.x Sk ¥ dal WMiareec rices + _»..q“:.:..\;\\
e . T 1
gl qma:: into real Iincrease in output '
| * f ( ..._.L KA - = 3 5 coryr el N5
-Bﬂ.;,. (a) St k Appreciation & _r P at Market Prices - Deprecia
JErT)
. oiock Depreciallon
EB{- (b) 2 | L (d) None of these
) ..u_:_._« _..:ﬁ_. .;___, 1o LNy e P
h _ » theft 102. The production value of trans-
Od (d) Stot k Insured port and communication is taken
98, While adding up the value of :“_:.i.':xa...;*.m:: for computation
putput of various sectors for cal- ...r 7M:___c:m_ Income under which of
5 7 2 s /i a 2
‘th culation of National Income under e following methods!
1 od product Method, care should be (a) Income Method
of nga. exercised to avoid the problem of  (b) Expenditure Method
; :
ﬂg _._..._ Product _(g_n_.TC&
terprige _ Y ing :
of (a) single Counting (d) Profit Method
he (h) triple Counting ” eI .
: 103. “Identifying the producing

()
(d) double Counting
99. The production of goods for

self-consumption is valued at
while calculating na-
h Product

quadruple Counting

:L:.\»ﬂ .:_.nm.uz,.n throug
Method

(a) Historical Prices
(b) Prevailing Market Prices

(¢) Prevailing Cost Prices
(d) None of the above

100. The production v
port muamﬁnc jcation is taken
into considera
of National I
the following m

(a) Income Method

(b) Profit Method
Method

DETEEMIMATION O MATICMAL IMCCIAT

101. The formula to compute Net
National Product at Market Prices is:

( ¥,
u) GDP at Market Prices - Deprecia

enterprise and cl
into individual sectors according to

6.13%

assifying them

their activities”, is a step followed in
which of the following methods of
computing national income?

() Product Method

(b) Income Method

(¢c) Expenditure Method

(d) Profit Method

104. The, Problem of Double (
ing may arise in which of the
ing methods of calculating ¥
income? i

(a) Profit Method

(d) Expenditure M

105. Which of
method of measury
Income?
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() Value Added 2_.,__:___._

(M) Income Method

() _:..._._:..._:._.,
7-...__::_
nditure method

h of the following method
alue of National

Consumpl fon

(@) Expe

106. Whic
gives highest
Income!

(@) Value Added Method

(0 Expenditure Method
(@) Income Method

(@) All the three methods given the

same value
107. Who is entrusted with the task
of estimating national income?

@) CSO
(&) CSIR
() MOF
(@) NSDC

108 Value Added Method is also
known as

(@) Product Method

(& Inventory Method or Net Output
Method

() Industrial Origin Method
(@) All of the above

109. Which of the following is one of
the three accepted methods to cal-
culate a country's national income?

(@) Value Added Method
(&) Inflation Adjustment Method
(¢) Import Substitution Method

(@) Nominal Expense Method
110.

NATION OF NAT

JONAL INCOME

(@) Value Added

(b) Income Added
() Inclusive Approach
() Exclusive Approach

111. Value Added is calculyyy,
the difference between the y, Al
output and e

(@) Value of inpul
Q) Intermediate consumptjoy,
(¢) Final consumption

() Basic consumption

112. Value added by each prog
ing enterprise is also F:ognﬂ

(@) GVA at market price
(b) GVA at factor price
(¢) GDP at market price
(d) GDP at factor price

113. From the following infor
mation calculate GDP at Market
Price:

GDP at Factor Cost = INR 200 Crore

Indirect Tax = INR 200 Crore

Subsidies = INR 20 Crore
(@) INR 500 Crore
(b) INR 230 Crore
(¢) INR 330 Crore
(d) INR 130 Crore

production units, which are 1

forresale or foru _ _
rusin J
is kno m:ﬂooﬁr_

(@) Final Consumption y
ﬁvv Hﬁnﬁﬁqﬂ&mﬂﬁﬂ Consaties <5
(d) None of these



DETE &
PERMINATION (o NATIONAL INCOM]?

(15. The expenditure oy, £oods and
services Which is meqy, for final

(@) Transpor
h_.:_.a:..:_u::: and m:e_.,..a_._:n.:_ is (M) Education

ﬁ»._—ﬁ.-m a8 () _______:__:.
teg a.a (@) Final Consumption (d) Animal Hushandyy
&Eag () Intermediate a.::x::.__,::: 120. The industrial classification

(¢) Basic consumption of producing enterprises does not

() None of these include which of the following?

:&.:._:._..,._Emm.:_,-.....i material c e
from domestic firm is given at ¥ 158 (b) Secondary Secto
crore and imports are T8 crore, what ~ (©) Mixed Secior
will be the amount of intermediate (d) Tertiary Sector
consumption under value added .

method? 121. Under Value Added Method,

- - the sum total of Gross Value Added
(a) X 8 crore at market price of each sector is
(b) T 150 crore called as:
(¢) T 158 crore (@) GVA,,,
(d) ¥ 166 crore (b) GDP,,

117. What is the value of output on  (©) GVA,

the basis of following information?  (4) GDP,_

Sales 7 40,000 Lakhs 122. As per Value Added method, the
- . »

net domestic product at Factor Cost
Closing Stock :% 2,000 Lakhs (NDP,.) is calculated as per which

Opening : ¥ 500 Lakhs of the following equation?
Stock (a) OU.F,:. - Depreciation + Net
(a) T 42,500 Lakhs Indirect Taxes e
(b) T 42,000 Lakhs (b) GDP,, - Depreciation - Net

Indirect Taxes

g (c) GDP,,, + Depreciation + Net
AQ«V ﬂ wm.mco .ms...wr—um Indirect Taxes
118. Which of the following 18 not a (d) GDP,,, + ﬁb@wmnmw&eﬁ - Net
part of Primary Sector? Indirect Taxes
() Farming _mww..
at H
() Fishing SISEAOR
(¢) Transport
(d) Mining }
119. Which of the mc__cw‘&:m is not a
ﬁmﬂ. of Tertiary Sector




€16 DETER

\meﬁ sz.:::.w\ : 74,000 cro

Sector)

OSazmAmmno:n,
ary Sector)

Wﬁ% (Tertiary \ : ¥ 2,800 crore

Sector)

What is the value of NDP at Factor

Cost?

(@) X 7,300 crore
(b) 8,400 crore
(¢) T 8,700 crore
(d) 16,400 crore

124. Which of the following equa-

tion is true?

(@) NNP.. = NDP,_ . + NFIA
(b) NNP, = NDP,, . + NFIA
(c) NNP_.. = chmq - NFIA
(d) NNP_ . = ZUF% - NFIA

125. Under value added method,
which of the following will be
included while co

mputing National
Income?
(a) Sale and purchase of second-
hand goods

(b) Intermediate goods

(¢) Production of goads for
sumption

(@) Production of servic
consumption

126. For Computation of Nationa]

self con-

es for self

(@) Change in $1Or¢ of goods
&) Imputedvalye of owner-

. OCCupijed
house

(e) Production of goods for self-
consumption :

d) Intermediate goods

MINATION OF NATIONAL INCOME

: T 1,200 crore

1 127. Consider the m.o:o._iuw

oty

| Sales : »o.g.ag

Closing Stock 3 3.25
Opening Stock : 5_25
Indirect Taxes : __cc.og
Depreciation 60,00
5—5..:2:.”“.?. : u.NPEx.
Consumption

Purchase of Raw . ?mmbs
Material

Rent * 25,000

The amount of Net valye added 5
market price is .

(@) ¥ 16,30,000
(b) T 16,50,000
(c) X16,80,000
(d) 16,90,000

128. What is the value of output ip
respect of following data?

Amount

(9]

Net valye Added at - 70,000
Factor Cost

Intermediate : 30,000
Consumption

Goods ang : 25,000
Services Tax :
Subsidy : 4,000
Uu—uﬂoammg

-




DETE
ETERMINATION OF NATIONAL INCOME

o™

wages, -.ﬂn..:m. Interest and

(s are variables considered for

ns:%::sm national income under
f the following methods?

e—.—amn_u o
@) product Method

(b) mﬁé:&::_d Method
ﬁﬂw gﬁ-ﬁroa
(d) Turnover Method

130. 1If GDP at Market Prices is INR
200Cr. and Net Income from Abroad
i INR 100 Cr., then what will be the

yalue of GNP at Market Prices?

(@) INR 100 Cr.
(b) INR 400 Cr.
(c) INR 300 Cr.
(d) INR 500 Cr.

129-
_u_.c_.w

Income

131. Consid
mation:
A. NDP at market pric

B. NetFactor Income
(-) 700

e 77,000

C. Depreciation 1,700 (b) GNP at Marke
D. Subsidies 6,600 Market Prices - Net Income from
E. Indirect Taxes 7,700 Abroad -
- Income is: (c) GNP at Market Prices = GDP at
The value of National Market Prices + Net Income from
(a) 75,000 Abroad R T o
(b) 75,200 (d) GNP at Market Pri
(c) 75,400 Market Prices +
132, Which of the follovie is not Somal Incoms &
nO_c. d un der Hﬂﬂ@uﬂ.ﬂ gﬁn—-& of ﬁ_.u.v menro_ﬂmw Inco
e ting Gross Zu&cn.&wno&—.n@ Corporate P
compu g * - Social Secu
(a) Rents : Interest on P
: nditure _
(b) Private consumptio? cRP- (b) NationalIn
es and salaries Corporate P
(c) Wag Social Se

(d) Interest

er the following infor-

from abroad

6.17

133. Windfall gains like, prizes won,

lotteries, etc. should notbe included
m= the estimation of national income
is the precaution to be followed un-
der which of the following methods
of computing national income?

(a) Profit Method
(b) Product Method
(¢) Expenditure Method
(d) Income Method
134. is the total measure of
the flow of goods and services at
market value resulting from cur
rent production during a year in 2
country, including net income from
abroad.

(a) Gross Domestic Product

(b) Gross National Product

(¢) Net Domestic Product

(d) None of the above

135. The formula to ©
at Market Prices is:

(@) GNP at Market Prices = GDP .at

Market Prices + Depreciation

ompute GNP

{ Prices = GDP at




DETERMI NATION OF

6.18

) National Income¢ - Cﬁ_ii:m_._u:ﬁﬁ_
Corporate profits - Profit _m;n,: -
Social Securily Contribution +
Transfer Payments + Interest on
Public Debt

National Income - c:&m:l:u.:cn_
Corporate profits + Profit Taxes
- Social Security. Contribution -
Transfer Payments

137. Which of the following formula
would be used to calculate Dispos-
able Income?

(a) Private Income - Direct Taxes

(¢

(d)

(b) Private Income*+ Direct Taxes
(¢) Personal Income - Direct Taxes
(d) Personal Income + Direct Taxes

138. What is the formula to calculate
GDP at Market Prices?

(a) GNP at Market Prices + Net Indi-
rect Taxes

(b) GNP at Market Prices + Net
Income from Abroad

(c) GNP at Market Prices - Net
Income from Abroad

(d) GNP at Market Prices - Net Indi-
rect Taxes

139. Transfer payments such as gifts,
donations, scholarships etc. should
not be included in the estimation of
national income is the precaution
to be followed under which of the
following methods of computing
national income? :

(a) Expenditure Method
(b) Income Method

(¢) Profit Method

(d) Product Method

140. Which of the ?:oe&bm, is not
the component of calculating na-

..

NATIONAL INCOME %ﬁn&“&h&aﬁ.
tional income through expendity,, ‘\w nﬂm .&uh
method? \-Mv__u\- ’
(a) Government expenditure um*hnnmn. g

(b) Production for self consumptje,, i %&ﬁn
(¢) Investment expenditure Aﬂu Nxﬁmﬁ
(d) Consumption expenditure o) prodt
141. The sum total of all the facy ) mco?
incomes earned within the domeg (e Cons
tic territory of a country is known a4 d) whe
(a) NNPyg 146 s 3
(b) NDPy 4 called
(c) NNP,, @ NN
(d) NDP, ) ND
142. Which one of the following ig © ND
component of Income Method? 1) No
(a) Compensation of Employees ﬁ»q W
(b) Rent and Royalty Wﬂm- of
(c) Profit and Interest 1 thet
(d) All of the above each 2

143. The reward to the entrepreneur from
for his contribution to the produc- 1toN
ies fre

tion of goods and services is called
as ]

(a) Corporate Tax

(b) Dividend

(c) Retained Earnings
(d) Profit

144. Which of the following is
considered for computatio
national income under Income
Method? .

(a) Interests
(b) Wages
(¢) Government Expenditure
(d) Rents

145. A method of national
according is based on the pr



revenues earned by all the firms
ncmnnrn.. must be distributed
ng the factors of production
jaries, wages, profits, rent and
st.

ghet
t
Foo
ps 52
intere
..—..Tm H-.—.WH
gxpenditure method

hod is known as:

Eu
b) product method
:.v
(d)

146. When factor incomes of all the
sectors are summed up, the result

is called as
(@) NNPgc
(h) NDPg.
(c) NDP
(d) None of these

Income method

consumption method

147. Which method of calculating
GDP of a country gives the following?

If there N firms in the economy,
each assigned with a serial number

from

{ to N. The GDP = GVA, where i var-
ies from 1 to N.

(a) Estimation Method

() Income Method

(¢) Product Method

(d) Expenditure Method

148. Which as the following is
included white estimating National
Income under Income Method?

(a) Income fromsale of second-hand

goods

(b) Income from saleofshares, bonds
and debentures-

(¢) Windfall gains like income from
lotteries, horse race, etc.

d value of services pro-
P, memﬁﬂw owners Of production
units

DETERM
INATION oF NATIONAL INCOM
} 2

. 6.19
- While estj
o Stimatin i
.come by income Eoﬁw&:ﬂ”“ww
’

nected wi
s . . wit
Productive activity and #Wmﬂwﬂmw

no value addition, which of the

following ijs ;
£ 18 CHU?
Income”? included in “Transfer

(a) Scholarship

(b) Donations & charity
(c) Old age pensions
(d) All of the above

150. Which of the following is not
covered under Income Method of
computing Gross National Product?

(a) Rents

(b) Private consumption expenditure
(¢) Wages and salaries

(d) Interest

151. What is the value of NDP at
factor Cost?

29,000
% 4,000
% 3,500
% 11,000 .
78,700 Rl
220000

Rent

Royalty
‘Mixed Income
Interest

Profit

Compensation
of Employees

(a) 52,700
(b) ¥56,200
(¢) ¥59,700
(d) None of tk
152. Consider the ¥

Value of 0

Purchase O
Material
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0
Wages and Sala- ! 765,00
ries

0
Net Indirect Tax Z 15,00 8
The value of operating surplus

(@) T1,12,000
(b) % 1,27,000
(¢) ¥1,92,000
(d) None ol these
153. What is the formula to compute
Operating Surplus?
(@) Gross Value Added at Factor Cost
- Compensation of Employees +
Depreciation
(b) Gross Value Added at Factor Cost
+ Compensation of Employees +
Depreciation
(¢) Gross Value added at Factor Cost
- Compensation of Employees -
Depreciation
(d) Gross Value Added at Market
Price - Compensation of Emp-
loyees
154. Which of the following method
measures national income as the
sum of all incomes, wages, rents,
interest m.:& profit paid to the four
factors of production?
(a) Value Added Method
(b) Expenditure Method
(¢) Income Method

(d) Product Method

Expenditure Method

__mm. The measures na-
tional income as total spending on
final goods and services produced
within nation during a year,

(@) Turnover Method
(b) Product Methog

10N OF NATIONA

[ INCOME.

(¢) Income Method

(d) Expenditure Methed -mm
156. Under ______ ¢o (3o
n:—.n:a_::-.c incurred 3.53? :n»
enterprise on new _nccz.:av? Jit
on replacement of old capita]. ang pri
(a) Gross Domestic Privage g s

ment 4t Gr

(h) Net Domestic Private _zeoﬁsai =1

L |

(¢) Total Domestic Private jp. N

ment i Cr

(d) Accumulated Domestic Privg, | R

Investment ) W
157. ABC limited incurred capj, M
expenditure of INR 100 Crore G
in setting up of a new plant, The a

mentioned capital expenditure yj
be considered for computation gf
national income under which of the
following methods? |

(a) Product Method

(b) Expenditure Method
(¢) Income Method

(d) Turnover gm:u_on_

158. From the following i
calculate national incon

Consumption expenditur
1000 Crore

Government Expendi
1200 Crore _

Net Exports = INR 40(
(@) INR 2200 Crore
(b) INR 1800 Crore
(¢) INR 3000 Crore
(d) INR 3400 Crore

.



From the mo_mci.mbw informa.

9.
15 compute Gross Nationa] Prod.

o :
-_n%ﬂwﬁwwmﬁgm to the Expen.
di

vate Consumption Expenditure
_INR 200 Crores

Gross Domestic Private Investment
_INR 80 Crores

Net Foreign Investment = INR 20
Crores
Wmﬂﬁ = INR 60 Crores

wages = INR 100 Crores
Mixed Income = INR 25 Crores

Government Expenditure on Goods
and Services = INR 60 Crores

() INR 360 Crores
(b) INR 200 Crores
(¢c) INR 385 Crores
(d) INR 270 Crores

160. From the following information,
compute Gross National Product
(GNP) according to the Expenditure
Method

Private consumption expenditure =
INR 100 Crores

Gross Domestic Private Investment
= INR 80 Crores

Net Foreign Investment
Crores

Rent = INR 60 Crores
Wages = INR 100 Crores
Mixed Income - INR 25 Crores
jture on Goods

Government _whm.mumn e
and Services = INR 70 (10

(a) INR 360 Crores
~ (b) INR 200 Crores

(c) INR 385 Crores

(d) INR 270 Crores

= INR 20

DET
gdoz OF NATIONAL INCOME

- of inventories and (c) on newly con- H

. ture Method?

6.21

HMM. Gifts, donations and scholar-
ships are which form of payments?

(@) Factor Payments

(b) Explicit Payments
(¢) Implicit Payments
(d) Transfer Payments

162. “The expenditure on second

hand goods should not be included

as they do not contribute to the cur-
rent year’s production of goods”,isa
precaution suggested under which of
the following methods of computing
national income?

(a) Profit Method

(b) Product Method

(¢) Expenditure Method

(d) Income Method

163. is expenditure in-

curred on by business firms on (a)
new plants, (b) adding to the stock !

structed houses
(a) Net exports
(b) Investment expenditure
(c) Consumption expenditure
(d) None of the above )

164. Which of the following is/are
considered for calculating National:
Income according to the Expendi-

(@) Consumption
Investment |
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165. Which of the mc:cim:m. is W—H
the component of nm—n:.m:ﬂmawm
tional income through expendl

method?

(a) Government expenditure

(h) Production for self consumption
(¢) Consumption expenditure

(d) Investment expenditure
166, _ ~___is the largest com-

ponent of national income under
expenditure method.

(a) Investment expenditure
(h) Consumption expenditure
(¢) Government Expenditure
(d) None of the above
167. The formula to compute Net
National Product at Factor Cost is:
(a) NNP at Market Prices + Indirect
Taxes + Subsidies
(h) NNP at Market Prices - Indirect
Taxes - Subsidies

(¢) NNP at Market Prices - Indirect .

Taxes + Subsidies
(d) NNP at Market Prices — Subsidies
168. In India, is the apex

banking institution that regulates
the monetary policy in the country.

(a) State Bank of India

(b) Canara Bank

(c) Reserve Bank of India

(d) Oriental Bank of Commerce

169. Which of the following is not
considered for computation of

national income under
Method?

(@) Government Expenditure
(b) Rents

-:ncan

NATION OF NATI

ONAL INCOME
ity @) gxpe
(d) Interests wﬁm:.
170. Which of the mo——cim:m o fina
ments are considered for naEEJ., ; Un
ing national income accordj g3 i
Expenditure Method? ty n%ﬂmmn“wn :
(a) Consumption m.xﬁmb&w:ﬁ - w—.um aat
S rts il e
Net Expo : o
(b) Consumption Expendityy,, (a A
Investment Expenditure m:m @_u
Government Expenditure . () mo_
(¢) Consumption Expenditure and ) Al
Investment Expenditure i14. W
(d) Consumption muﬂm:&::ﬂ wuﬁo*
Investment Expenditure; Ggy. ments
ernment Expenditure and Ng Gyl
Exports ) e
171. Which of the following is not )]
covered under Income Method of (e
computing Gross National Product? () ¢
(a) Interest 175.
the s

(b) Wages and salaries

?.Vvi«.mﬁmoOﬂmﬂBvaosmxvmu&_
ture o

(d) Rents

172. The formula for calc
Private Final Consumption
diture (PFCE) is:

() Household final consu
expenditure/private non
institutions serving hou
final consumption expendi

(b) Household final consu
expenditure X private nor
institutions serving hou
final consumption exper

(c) Household final cons

expenditure + private n
Institution serving ho
final consumption expe



, _._ﬁ:_.,;._:.._n_

: :::__ Consumption
r.fﬁ:.:p-_::,nu - private

(
non-profi

hg €] institution ,,.,E,_i:m households
n._ﬁun-ﬂac final consumption expenditure
m.. = = " .
ling ty 73. Under expenditure methoq,
ﬁ..,.._:..:m_::..». of which of the follow-
2 an, ing sector 18 included for compu-
dq (ing pational income?
:tﬂa. (a) Households
f mbq_. (p) Government and firms
(¢) Foreign Sector
w anqg (d) All of the above
{74. Which one of the following is
Ure. part of expenditure on transfer ﬁ.uc-
nw,%....., ments by government? .
" (@) Unemployment benefit
Dot (h) Old age pension
" of (¢) Interest on public debt
ct? (d) All of the above
175. Under expenditure method,
the sum total of final expenditures
I incurred by households, business
| firms, government and foreigner is
called as ;
(@) National Income
g (b) GDP at market price

(¢) GDP at factor cost
(d) NNP at factor cost

176. If Net Value Added at Factor

Cost = INR 2 Cr. and Depreciation is
INR 1 Cr., then GDP at Factor Cost
will be:

(@) INR 3 Cr.
(b) INR 1 Cr.
(¢c) INR 4 Cr.
(d) INR 5 Cr.

177. The formula t
at Factor Cost 18¢

o compute GDP

I.I-IIIEI

—:_.._._J,_ﬁ__s_zsf I'oN op

NATIONA] INCOMKE
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(a1) .Am_:‘. al Factor Cost | Indirect
laxes - Subsidies

(h) .C_:H at Market Price Indirect
laxes

(o) .ﬂ“__i_ at Factor Cost Indirect
Taxes Subsidies

(d) GDP ai Market Price

. - Indirect
Taxes + Subsidies

178. Which of the following ele-

ments are considered for n.:.:_::-

Ing national income according to

Expenditure Method? .

(@) Consumption Expenditure;

Expenditure and
Government Expenditure

Investment

(b) Consumption Expenditure and
Investment Expenditure
(¢) Consumption Expenditure and
Net Exports
(d) Consumption Expenditure;
Investment Expenditure; Gov-
ernment Expenditure and Net
Exports
179. “Private final consumption
expenditure” refers to expenditure
incurred by households and pri-
vate non-profit institutions serving
households on all types of consu-
mer goods. Which of the following is
not included in such computation?

(a) Durable goods
(b) Semi-durable goods .
(¢c) Non-durable goods and services

(d) Construction of
houses

180. Under expe
the expenditure ¢
shares and bonds i

(a) These are noti

(b) Thesedonotr
ly produced
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: wynesent cull
@) These repros 0 <

oon
&) None of these
@ 3 , .
181, Which of the gﬁou’:ﬂmw
ncheded in the aational 1n¢C

j b . o e LS
3 u./m.,a;_.:,—r..f 2

FOOGS
) Transier Paymenis
- A Y H.
i Jow a Ol OW i1 Aocl HH__.M

CNTTETIIG Le
- e Taiiuse L
BB
DRURAIRLUTURR
Peschace of inancial asscis
b s [ L Lsiuwas
T

(82 In respect of following data
What will be national

u -
%.?ﬂ;ﬂ m - .
imcome using expenditure method:

Particulars - <
Private final consump- 25,000
son ;

Government final 12,000

consumption

Net Domestic capital 6,500

tormation

5,000
income 1,000

Net Export
Net  factor
from Abroad

mm,ﬁvnmﬂmmuwmaﬂrnﬂwﬁ Ocm.
2t Factor Cost is |

r
b

&) GDP & Facwor Cost

-

i

ent ?G&:ﬁ-

ing 18

n W._.:ﬁ,ﬂ.ﬁ._mr:.m?,

184. which of the ma—rzzmﬂ
not the component of cg) w.__.
national income through oj

rure method?

(@) Government mxbmu&ﬁ:.m

(b) Production for mmmwnoymc:gs _
(©) Consumption expendityre

) Investment expenditure

185. Read the following Statem, .

1. ‘Value added’ refers noﬁrm&.
ference betweenvalue of

and purchase of mbamgnwﬂm
goods. ,

II. ‘Value added’ representg the

contribution oflabourang cap,

tal to the ﬁaﬁﬁnﬂmﬁﬁ— Procesg

(@) Statements I and II are incopyey
5) Statements I and II are correg

(c) Statement I is correct and Il
incorrect

d) Statement II is correct and1
incorrect

. Non-economic activities are;

a) those activities whose value
excluded from national in
calculation as it will in
double counting

() those which produce good
services, but since these
exchanged in a market
tion Mwum% do not c“..:.r
market value

(c) those which do not ‘:.
duction of goods and
they are meant to [ _

bies and leisure time 2

.

Ad¢
®) fini
) Sic
& the
d) (@
Ew.Q

Sales

.1....:...
Openi
s




hich one of the followine ;
g1. W - ollowing is
h noaﬁcﬂnﬂ: of Triple m&mam»%..um

) National Product

(a
) National Income

©) National Expenditure
@) All of the above

{88. Which of the following enters
to the calculation of nationa
Enc:un.u .

(a) The value of the services that
accompany the sale

(b) Additions to inventory stocks of
final goods and materials

(c) Stocks and bonds sold during
the current year

(d) (a) and (b) above

189. Consider the following data:

Sales 1,050
.Opening Stock L7500 |
Intermediate Consumption 525
Closing Stock 600

Net factor Income from 45
Abroad

Depreciation 225
Excise Tax 165
Subsidies 75

What is the amount of meo.._..-m_ :
Income by value Added method:

(a) ¥ 900 Crores
(b) X375 Crores
(c) T 105 Crores
(d) None of these |

190. The following data is available

(In T Crores): -

DETE
) RMINATION OF NATIONAL INCOME

6.25
Pt
| Purchase of Z_:_ﬂ.,_ﬂ._., s T 170
m:smr:_.,.xI.-i- P T30
::m_.:..c..,:ﬁ_., P:_.lr.;::_::.: T 400
| Sales R e ain
Depreciation 2 60
Mzﬁmcﬂ%ﬂ i N.c:
E:.::.m Stock 2 80
Closing .w::..w. LB T 60

Calculate Net Value Added by factor
Cost.

(a) X 480 Crores
(b) T 420 Crores
(¢) T 360 Crores
(d) None of above

191. Which of the following is not
used when National Income is cal-
culated using expenditure method?

(a) Operating Surplus

(b) Private Final Consumption
Expenditure

(c) Net Export

(d) Net Domestic Capital Formation

192. Calculate National Income with
the help of Expenditure Method
with the help of following data.

i

Net factor Inco
Abroad

Net Indirect Taxe

Private Final C
Expenditure _

Net Domestic Ca
Formation

Consumption of Fi
Net Export

Govt. Final C
Expenditure
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(@) ¥ 1,139 Crores
(b) T 1,237 Crores
) X 2,039 Crores
(d) T 3,022 Crores

i nfor-

193. Consider the following I
mation: e

3 Zin

Hﬁimnﬁﬁﬁm | Crores

Private Final Consumption 45
Gross Domestic Fixed Capital | 1,575
Subsidy 450
Net Import 90
Change in Stock 135
Net acquisition of Valuables 45
Public Final Consumption 22
Expenditure
Income Paid to abroad 90
Depreciation 135

What is the value of NNP.. (by
expenditure method)?

(a) ¥ 1,957 Crores

(b) T 1,507 Crores

(¢) X 1,462 Crores

(d) None of these
194. The following data is available:

Compensation of Employees | 2 Nmo
Interest .
. 675
GNP at Factor Cost 46,12
- »
Profit 1|l||lmll
Net Domestic Capita] F. -
mation (i e
| Gross Domesto grr |
ss Domestic Capi _
Formation g hI3

- (@) Exchange Omﬁnm&ozm@_ﬂom._ i

NCOME

F NATIONAL I
all
(4)
all
(v) Al
or Income to abroad (© e
Net Indirect Taxes @ ce
What are GDP, and GDP,_» B
(a) T 4,800 Crores & X 4,575 Cropg, w—onmﬁ
Crores & T 4 0095
b) 2 4,575 Crores hmoo_nga, g e
(¢) Z 6,750 Crores & 6,825 Qﬁ. w.w o
(d) % 6,825 Crores & X 6,750 Crore, @) N
195. Read the following Statemey t) »
and answer the following questig, !
1. Intermediate consumption g, e
sists of the value of the 200ds (d) -
. %.J
and services consumed 3zs i, 1
puts by a process of productio, per C
II. Intermediate consumptipy (a)
excludes fixed assets whoge
consumption is recorded as (b)
consumption of fixed capital,
(a) OnlyIis true
(c)

(b) Both I and II are ﬂ._._m_
(c¢) Only II is true
(d) Neither I nor II is true

196, Which of the following does
not enter into the calculation
national income?

goods s
(b) Exchange of second hand:
(¢) Exchange of stocks and bon
(d) All of the above :

The System of Regional

counts in India
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(@) All the states only

) All Union territories only

©) All The States and Union territo-
ries of India

@ Central Government

198. is a measure in

monetary terms of the volume of all

mcca_m m.ﬂm i i produced in the

gtate within a given period of time

accounted without duplication.

Net State Domestic Product

(a)
(b)
(c)
(d)

199. What is the formula to calculate
Per Capital State Income?

Net State Disposition Product
Net State Generated Product

None of the above

(a) State Income x Money Multiplier

State Income x Money Multiplier

b)
A Year end State Population

State Income

(c)

Year end State Population

State Income

(d) Mid year projected Population of
the State

200. The State level estimates are
prepared by the State Income Unitof
the respective state __————
merce Wing

(a) Directorates of Com
(b) Directorates of Economic Affairs

(c) Directorates of E
Statistics

(d) Directorates of CSO

201. In the preparation of State HM“M
mmnmwﬂmnnm the advice an concep

and Ennro&oaoﬁnm_ problems is
deredby ——

conomic and

(e)

6.27

(a)
b)

State Statistical Organisation

State Directorates of Economics
and Statistics.

State Economic Affairs Organisa-
tion

(d) Central Statistical Organisation

202. Which of the following activities
is not assigned to a particular State?

(a) Railways

(b) Communication

(¢) Banking and Insurance
(d) All of these

203. Which of the following is part
of “Supra-Regional Sectors” of the

Economy?
(a) Railways
(b) Communications
(¢) Central Government Administra-
tion
(d) All of the above

204. The estimates for “Supra-Re-
gional Activities” are compiled

and allocated to
‘ on the basis of rel-

evant indicators.
(a) the States, the Centre
(b) the economy, the States
(¢) the economy, the Centre
(d) the States, the m.au..ﬁmm..

205. In the preparation _uh.___.«ﬁ sl ol
Income estimates, € _

for

their economic ¢
be assigned toan
These sectors o
known as

(a) Super regiong

(b) Supra region:
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(c) State balancing sectors

(d) Regional sectors

GDP and Welfare

f the followin
rm in GDP measures?

206. Whic
are exclude

(@) Income Distributions

(b) Quality Improvement in Systems
.@ wﬂomcnzonmrammsmda govern-

. ment authorities.

(d) All of the above.

Introduction .

208. In 1936, who published th
masterpiece “The General Theory of
Employment, Interest and Money”?

(a) John Maynard Keynes
(b) John Milton Keynes
(¢) Jean Maynard Keynes
(d) Jean Milton Keynes

209. In which year, the western
word had experienced the Great
Depression?

(a) 1928
(b) 1929
() 1930
(d) None of these

210. The history of modern micro-
economics was revoly

Maynard Kenes. What j
. is t
of that masterpiece? he name
(@) General Theo

of
Spending* Iy of Government

N OF NATIONA

g &..mwuﬁﬂﬂm )

212, Which of the following is 1

el” of Keynesian theory of int

) tionised in
1936 with the publication by John

L INCOME

Limitations and Challep,

9 us
National Income Com :.Mng @ Bo
n—ﬂ: M\HQﬁm
207. Which of the —H.Ow—@gn.m F. (b) gus?
example of conceptual nﬂ,mn:_ oy ©)
related to measurement of N, @ GOV¢
H-ncan..v | .
(a) Issue of Transfer Paymep; cir cula’
: _ |
(b) Valuation of Governmeny wnﬂou.
vices Ser m.\b\ﬁ\m
(¢) Lack of an agreed ammaaoa nﬁnu is
National Income. - o ﬂ corre
(d) All of the above. @) Th
i stx
_ sO
of Empl 5
(b) General Theory of Employm,
Interest and Money 6. () ”
(c) General Theory of reducing . t
employment. . 1
(d) None of these (d) :
211. Which one of following is not 215.
the model of Keynesian theory of the e
income determination? _play

(@) The one-sector model -
(b) The two-sector model

(c) The three-sector model
(d) The four-sector model .=

a part of “The Three-sector

determination?

(@) Household

(b) Business

(©) Government _
(d) Foreign

me. The two-sector model _

—— _ sectors.



@ Household and Business
[t
) Household and Government

0 Business and Government

g (
2@”” ) Government and Foreign

el circular flow in a simple Two-
Snt S d
e gector Model
_mmgao. 214. which of the following State-
_ 0 op nents about Circular Flow is

Enﬁ_uﬂ.&ﬁ#.u

@) The circular Flow model demon-
strates howmoney moves through
society.

(b) An economy is an endless cir-

UHOEnE cular flow of money
; (c) Money flows from producers
ues to workers as wages and flows
g Un- back to producers as payment for

products.
(d) All the Statements are correct.

WW. s hot 215. The two-sector model breaks
coryiat the economy down into two primary

players namely
(a) Households and .noH.voE:obm
(b) Corporation and Business

(¢) Business and Government

(d) Government and Foreign

216. In two sector model,
own all factors of production and
sell their factor services

aﬂoﬂ incomes.
(a) Households, Households

(b) Households, Corporations
s, Households

(c) Corporation
(d) Corporations, Corporations

217. In two sector model, what is
the relationship between total In-

D
MHMW?AHZ.P._.HOZ OF NATIONAL INCOME

b 6.29
nrMnM %MMM—&MM (¥) that accrues to
Personal mﬁnGSmﬂwﬂw Mﬂﬂw__ﬂwwﬂmm—r_m
e . olds?
b)) Yey 4
(€) Y= Mua

(d) Either (a) or (b)

whw. Which of the follg
is. “Circular Flow in
Economy”?

wing is true
a two sector

(a) Factor Payment =

Household
Income

)

Household Income = Household
Expenditure:

(c)

Total Receipts of Firms = Value
of Output

(d) All of the above °

219. As regards “Circular Flow in a

Two Sector Economy”, :
refer to the flow of the actual goods __
or Services while re- |
fer to the payment for the Services __
(wages) or consumption payments. :

(a) Real Flows, Money Flows , _
(b) Money Flows, Real Flows ._
(¢) Real Flows, Circular Flows : ___
(d) Circular Flows, Money Flows. il

Basic nosnmﬁﬁ_m.:._.__. _"E.nn_e:m o :
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221, In a closed economy,

: tion
function of Consump .
E.?Aﬁ. )and [nvestment Expen

I) of the two €Ot ;
MnaoE:m for the highest PT opo
of the GDP? .
mption Expenditure

rtion

(a) Consu
(b) Investment Expenditure

(¢c) Both have equal proportion

(d) None of the above

222. Which of the following is the
correct expression of the Short-run
aggregate demand function?

(@) AD=C+1

(b) AD=C +1
(e) AD=C 41
?: mr._uum+w

223. Which of the following is NOT
TRUE about AD in a two-sector
economy?

(a) AD = Consumption + Saving

(b) AD = Consumption + Investment

(¢c) AD = Curve has a positive Slope

(d) AD = Curve Starts from same
point about origin.

224. In the Keynesian model, equi-

librium aggregate output is deter-
mined by

(@) aggregate demand
(b) consumption function
(¢) the national demand for laboyr
(d) the price leve]
MMW m”MHnm wwmmqmm that an econ.
Y attain equilibrium level

F NATIONAL INCOME

() only if prices were infleyy, Fo
d (¢) above i ()
(d) (a)and (€ : y €
226. Which function expreg, (d .
functional _.n—mcc.wmr#. rﬂsh_; nmon. g
aggregate noﬂmﬁuﬁﬁﬁ-osrngn:&ﬂ %M_.mm
and aggregate disposable ing,, ™
f g Mg the?
(a) Saving Function moa\?_
(b) Consu mption Function in co!
(¢) Disposable Income wcsnzoa i (@) _
(d) None of these (b)
227. The consumption mc.nn:_s_ (c)
is expressed as C = F(y), S_E,: (d)
is disposable mn.noao. >m per th, 231.
function, when income is low, ¢, func
sumption expenditure of #c_.me_ss valu
will their &mvomm_u_a
incomeand households . ¢ (@)
purchase consumption goods, (b)
(a) exceed, save (c)
(b) exceed, dissave (d)
(c) be less than, save 232
(d) be less than, dissave MM“
_.Nmm. As per consumption function, | (a
if the disposable income increases, .
consumers will their (b
planned expenditure but only by (c
NS than the increase in (

(b) increase, more

(¢) decrease, less

(d) decrease, more

229, Which of the following is
specific from of consumptiond®
COme wo_mnosmrm-u (termed as
sumption Function) as proposed
Keynes? ,
Anv C= a+ .*UV«
A@u C= a = Tu‘ .



@) Caoxbl
) €= .
10, The Keynesian assumption is

onsumption increase with an
jerense in disposable income, 1f
(he increase in disposable income Is
30%, then W hat may be the increase
in consumption?

L 4
(hat ¢

QL L.ess __-.,.:.__ .HC«..H:

() Equal to 30%
(©) More than 30%
(@) Any of.the above

231. In the Keynesian Consumption
function C = a + by, what may be the
value of b?

(@) b=0
b) b=1
(¢) b>1
d) 0<b<l

232. refers to the ratio
of consumption expenditure to the
corresponding level of totalincome.

(a) Average propensity of consume
(b) Marginal propensity of consume
(¢) Overall propensity of consume
(d) Moderate propensity of consume

233, If 30% of income is not spent
on consumption, then what will be

the Average propensity to consume?
(a) 30% £ o

(b) 70%

(c) 130%

(d) None of these %
o of change in consump-

234, Theratio o R eube I tatal

t »nditure to
e 1s referred to 25 :
(a) APC

(b) MPC

DETERMINATION OF NATIONAL INCOM

(@) Consumption function
() None ol thewse

235, Which of the formula s corvect I
Lo measure Marglnal Propensity 1o __
consume (MPC)? .

(a) C
|
(h) ¢ .
Y |
() AC f
Al ¢
(d) AL i
AY _.

236. What is the graph of saving
function called?

(@) Average Propensily Lo Save
(b) Marginal Propensity to Save
(¢) Unitary Propensity Lo Save

(d) None of the above

237. Identify which one of the fol-
lowing is Correct?

(@) MPC + MPS = 1
(b) MPC ~MPS = |
(¢) MPS - MPC = 1
(d) MPS + MPS = 0

238. What will be the
rage Propensity to Sz
C=300atyY = 1,00

(a) 0.3
(b) 0.7
(¢) 1.3
(d) 3.1 |

239. IfAPSand Y a
then what will be

(a) 375

© (b) 675
() 1,125
(d) 1,425
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240. According to Keynes, consump-
ined by

tion expenditure is determ

(@) the level of interest rates

®). xes and

extent of government (a
subsidies

disposable income

s investment expen-

ﬁn.d

(d) autonomot

diture

241. The Marginal

consume (MPC) can

(@) a change In spending due to a
change in income

Propensity to
be defined as:

a change in income that is saved
after consumption

part of income that is spent on
consumption

part of income that is not saved

®)

@)
242. If the consumption function
is expressed as C = a + bY then b
represents:

(@) autonomous consumer mx@msm:]
ture when income 1is zero
the marginal propensity to con-
sume.

the expenditure multiplier when
consumption is increased

(b)
()

(d) part of disposable income

243. If the consumption function
is expressed as C = a + bY then a
represents

(a) autonomous consumer expendi-
ture

(b) the marginal propensity to con-
sume

(0 the consumption income rela-'
tionship

(@) Mcn. linear consumption func-
- tion

NATIONAL INCOME

244. If the consumption m:..mnncs s
C = 20 + 0.5 Yd, then an increag,
in mmmﬁcmm_u_m income Tw, 7 100 wil]
result in an increase in consumg,

expenditure by X
(@) 25
(b) 70
(©) 50
(d) 100

a8, = o SEils the tota]
supply of goods and services which

firms in a national economy plan on
selling during a specific time period,
(a) Ex ante Aggregate Supply
(b) Planned Aggregate Supply
(c) Projected Aggregate Supply
(d) Both (a) and (b)

246. Which of the following is correct
about Aggregate Supply (AS) ?

(@) AS=C+S
(b) AS=C-S
) AS=C+1+G_
(d AS=C-1+G

247. When income rises from?< 1,000
to % 1,100, saving rises by T 40. What
are MPS and MPC?

(a) o.&o and 0.60
(b) 0.60 and 0.40
(¢) 1.40 and 1.60 .
(d) 1.60 and 1.40 o

248. The consumption expendituré
and investment demand are ¥ 800
Crores and % 350 Crores respective:
ly, when income is ¥ 1,250 C
What will be the value of AD
and Saving?

(@) *1,250,% 1150 and X 450 L




(ALEN N E

y €1 200, T 2 080 and ¥ Any)

: \ N ol these

{
[
" fhe Saving carve olban econmmy

akes w negative _.:3.,1_: of ¢ a0
ot 30Ol additbonal e oime

1
(L
n.-d-d

s awedd. As vepntds this datn, which
.L_ he following s corvect)

N) | o) + 0.4 (y)

(h ¢ 60« 0.7 Ly)

() 8008 0 ()

() None ol the nhove

150105 = A0 4 025 (y), then whnt will

pe the Consumption Fanction (¢)?

30 « (.25 (v)

(i) (
(h) ¢
() (
() ¢
251, 1 MPC is one thivd of MPPS and
consumptionat zerolevel ol national
income is ¥ 38 Croves then which ol
the following option is correct?

8 025 (y)
W8 4 0.75 (y)
8+ 0.25 (y)
18 4 0.75 (y)

) % 0,75 (y)
30 4 075 (y)
W0 o+ 025 (y)

(a) ¢
(h) (
() S
d) S

The two - Sector Model of Nat-
ional Income Determination
252. Which of the following reflects
the equilibrium level of income snm
output in the Keynesian frame wor
(under two sector model)?

(a) Aggregate pemand = Aggregate
Supply

(h) C+l=C+S

(c)1=8

(d) All of the above

RMIERATION OF MATIONAL IMEGME

644

N0 1 the sutonomous consump-
Honeguals 7 2,000 and the marginal
propensity to consume equals 0.8 11
aposable income equals 7 10,000,
then total consumption will be ¥

(i) B,000

thy 6,000
() 10,000

(ef) None of the nhove

254 In the Keyneshan cross dingram,
the point . which the nggregate
demand function crosses the 45-

degree line Indicates the

() level of tull cinployment income

() Tess than tull ernployment level ol __
o M
() cquilibrinmlevelolin ome which
may or may not be full employ-
ment level of income
(1) autonomous level of income

which may not be full employ-

ment  Jevel ol income

255. In o closed economy, aggregate
demand is the sum of
(¢1) COnsumes ...x_unn—&ﬂ:ﬂu__nbg_
for exports Fg ROV sﬂ

spending. .

(h) consumer exp
ivestment s

ment spen

(¢) consumer
investiment
spending

(d) consumer

invest
spending



JONAL INCOME

| OF NATI 4
DETERMINATION ot ) |
a3 b=0.8, clent deman- A—Qﬂn“ ! ne ol
tion C= a+by, b= d gives rise to , NO
256 Under equs tor expen- s : ,‘!/ :t
what is the value of 2 5€€ (@) Deflationary Gap t
diture multiplier? b) Recessionary Gap ._.___n —\_.-(QO
o
(@ 4 © Contractionary Gap \mu rhe ﬂ,
_ . o
(b) 2 (d) All of the above. w ns h b
©) 5 560. Under _ﬁau__znﬂ.nn The 1ﬂﬂ¢=\@n N
_,_.~: _ A - - — ﬂ” e g —\Q -@
257 5&25..3:325:cmmas___v...:_: s—_:.r ~ctasl mwm..nnu-wﬂagn My @ ..,m.m._..,
s ..::.. under two sector model, the ceeds the level of aggre Mayg ::._..pc
::..... ate demand curve is linear ©€X¢ 1 - uired to establis gf PO
aggrega’® v " loped indicating mand req rnl-ﬁ aare
and —uc.:.::.n._m slop¢ ) 3 ...:..1-:«._:.,.:‘ .wn:::u-.m:a. :uq agk
that as the level of national incom¢ _ ’ . Auto!
,the aggregate demand (or  (2) Inflationary Gap aggre
m_mm_..nxm:em_,:._:::ﬁ:Z.:.......:::_._:. (b) Deflationary Gap () .._wu i
i (¢) Contractionary Gap d) ase"
(a) rises, falls ) None o ek ol
(b) r,____.,. rises 261. Consider the following datare 264. The
(¢) rises, also rises lating to an economy in equilibriyy | ment ™Y
(d) falls, remains constant o 1 the
- Autonomous Consump- .
258. According to Keynes, aggregate . p- =500 @) Tri]
demand will not always be equal | o ri

to aggregate supply. Aggregate
demand depends on
whereas Aggregate supply
on

.&ﬂ_.v.n.:mm

(@) Household's plan to consume
and to save; producer’s plan to
produce goods and services.

(b) Household’s plan to produce;
producer’s Plan to consume.

(c) Producer’s Plan to produce good
and services; Household's plan to
consume and to save.,

(d)

Producer’s plan to
_ consum
Household's plan 1o produce :

259. As per Keynesian

odel of
macro economy, if th - i
demand is for ap nBa_.anom—.N.”nw.n
of the full emplo
output, then yment leve]

MPS =038
Investment Expenditure = I
What is national income? .
(a) 1,500
(b) 5,000
(¢) 150
(d) 5,650

= 1000, what will be the equilib
level of national income al "
the consumption expendit

this equilibrium level
income?

(@) 4400; 3400
(b) 1100: 850
() 3300; 2150



%m:_q of

@) mmmﬂmmmwm expenditure; an
increase 1n autonomous invest-
ment

p) aggregate income; an increase in
Autonomous investment.

(

) aggregate expenditure; a decrease
in investment

(c
(d) aggregate income; a decrease in
investment.

264. The process behind the invest-
ment multiplier can be compared to
the of water.

(@) Triple effect
(b) Ripple effect
(¢) Initial effect
(d) Double effect

265. Which of the
determinant of the v
investment multiplier?

(@) MPC
(h) APC
(¢) TPC
(d) None of these

following is the
alue of the

more will
e abue of mollples, whercs
higher the_____—— lower will be
the value of multiplier:
(@) MPS, MPC
(b) MPC, MPS

(c) APS, APC

DE
TERMINATION OF NATIONAL INCOME

of these i
@ Non€é plier is the reciprocal of
X AP
%m-lsma Multiplier MMW avm
u&m. .-;._uﬂ gﬂﬂwgﬂwnﬁ H—H—nwﬁm”—vm.mﬂn. ex- D.....v MPS
: Jains how many times the equilib-
Fom increases as a (d) MPC
268. In an economy investment

expenditure is increased by ¥ 600
crores and Marginal Propensity to
Consume (MPC) is 0.8. What will be
the total increase in saving?

(a) 3000
(b) 4000
(¢) 600
(d) 500

269.Supposeinacountry investment
increases by ¥ 320 Crores and con-
sumption is given by C = 45 + 0.6Y
(Where C = Consumption and Y =
income). How much increases will
there take place in income?

(@) T192
(b) T 365
(c) T 640
(d) T 800

270. An increase in
7 1000 Crores leads to
national income by X

investment by

(@) 2.5
®) 0.6
(c) 0.4
(d) None of t
- 271. Which 0
la can be use
Multiplier (



jatil
: T INCOME = N2
DETERMINATION OF NATECRE 5 o* _ Nati
Bt 275. Consider the mo=oS.Fn :d QOﬁ Nati
AY relating to an economy: Sl @ gpp<’ he
(@ K= 77 (a) gﬁ%mﬂmﬁaﬁ@ﬂﬂﬁ#ﬂﬂm © Jon€ of t
i Crores Sy @ .iwmn—u of 1
() K =1-MPC (b) 80% of the increase ip in wqw. regar ds!
1 is spent on ncﬂwﬂ-.muﬂ&aﬂ.cbsa _ﬁnn.w.m_un.mﬁa na
(d) Any of the above. incomes ® AD = &
272. In an economy, income gener- - (g) ¥ 2,800 ) [+ a1
ated is four times the increase In  ,, =7 o (©) . e cOot
investment expenditure. The values ©) 7 17,500 d All are
of MPC and MPS are c=25"1
and respectively. (d) None of these 280- amption
(@) 0.75; 0.25 276. According nc a_mm Keynesia, nanman. wha
theory, the equilibrium leve] N
25: 0.75 ry Om N _,HNﬂ.
(&) 0.25; 0. income in mbnnoncawmmn—mﬁma?& mult1P
ic) 1.75; 1.25 when: (@) D
(d) None of the above. (a) Aggregate Demand = Aggregate (h) 4
273. In an economy, the entire in- Supply ) 2
crease in income is spent on con-  (p) Saving = Investment b
~ G 4) Cannot
mzn.ﬂ:-.!u. What will be the value of (¢) Both (a) and (&) (d) :
multiplier? £ th 281. Conside
@ 0 (d) None of these about a simp
P - i ¥ n = m= +°om‘
®) 1 . Determination of equilibrium La250 ¢
(¢) Infinity (=) Income: Three Sector Model | '~ ik
d) -1

274. In an economy, the actual level
of income is T 500 crores, whereas,
the full employment level of income
is T 800 crores. If one-fourth of addi-
tional income is saved, what should
be increase in investment required
to achieve full employment level of
income.

(a) 0.25

(b) % 300 crores

(c) X 75 crores

(d) None of these

277. Which of the following is not |
considered in three sector modelof |
closed economy?

(a) Household Consumption

(b) Desired Business Inmvestment
Demand _ _

(¢) Government Sector’s Demand
for goods and Services

(d) Foreign Trade

278.In three sectormodel, thereisn®
foreign trade. Which of the followit
option is correct in this regard?

_



._ _.::. National Income

\ : anr - National Income
I
(!

) O
ﬁ.r

n Ni
@

pe - National Income

e ol _.:n..,l.np

- regards the determination of
privm national income?

AD = AS
) AD=Y = AS

_:_: All are correct

mm:. ﬁ.. = Nm + -..—.qm .J.—- #fa—.—ﬂu.-ﬂ A.t .m.m
consumption and Y is disposable
ncome. What is the size of the

multiplier?

"I

f:

—
e
(8]

(d) Cannot be determined.

281. Consider the following data
about a simple economy:

C=50 + 0.8Y,
I=250 Agcnmﬂanﬂnu
G =100 (Government - Expenditure)

T=100 AHWNV
What will be the equilibrium level
of National Income?

(@) 1200
(b) 1400
(¢) 1600

—a__.._.—_._.ng—z.)._—.:._z OF N

(d) None of these is

ATIONAL INCOME 6.137

C =40+ 0.8y,
1= 80
y=T=40
TR = 15

V9. which of the following is cor  Where € = Consumption function

I = Investment
G = Government Expendi- !
ture
T = Lump Sum Tax
TR = Autonomous Transfer
Payment.
What will be the equilibrium level
of income?
(@) 700
(b) 610
() 175
(d) None of these

283. In an economy, the tax has
been levied as a function of income
with Government expenditure and
transfer payments. The following
data is available:

Consumption function (C) = 400 +
0.75 (Y -T + TR) i
Investment (I) = 750

Government Expenditure (G) = 380

sl g ) y 1
: L

Tax (T) = 84 + 0.2Y




ATIONAL INCOME

RMINATION OF N
6.38 pETE _

H .Hmo_g— An,.._ Ve
Determination of Na 1-b+m )—.—m\. :
Income : Four Sector Model = : ““.\\
284. In the four sector n.sohurm ﬂwnmm @ 1+b+m \m\ |
of the following sm&n.n.ﬂw“_ three \m\

considered as compared with 288. Consider the followy, . _\\
sector model? Consumption function © .k %
(a) Exports 0.8Y, .3*_ \N.M\\
(b) Imports T= 0.1Y \u\o\\
(¢) Net Capital Inflow I = 60 crores \_wm\\
(d) All of the above G = 40 Crores \\m\m\
285. Which of the following indicates X = 58 x\m\\
the aggregate n.mEmun_ or the total M = 0.05Y \wtw\.\
planned expenditure of consumers, 1.
investors, governments and foreign- What will be the equilibriyy, \..q.w\..
ers (Net exports) at each income of income? .\m.m.\
level? (a) 800 crores ) ...wm\..
@ C+Y+G+(X+M) (b) 603 crores. \m.el.
6) C+I1+Tax+TR (c) 545 crores .quaﬂ
(€) C+1+G+(X-M) (d) None of these Imﬂm.
(d) None of these 289.C = 60 + 0.9Y, lmm.m
286.In the determination ofequilib- - 19 . Imm..ﬂ
rium level of national income, which M = 10 + 0.05Y 1kl
of the following is correct? e s
(@) Y=C+1+6G+(X-N) What is Foreign Trade | |
b) C=a+b(Y-T) A_E 0.98
() M= M +mY (b) 3.97
(d) All of the above. () 6.66

287. In four sector model, which of
the following formula is used to cal-
culate Foreign Trade Multiplier, if b

and m refer to marginal :
Propensity
to consume and Marginal
sity to import? e
|
(a) s e
1
K B

(d) None of these
290. Equilibrium inco
Exports (x) =20
Imports (M) = 10 + )

(@) Surplus (20) |
() Deficit (20) :
(c) Surplus (30)
(d) Deficit (30)
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e

2. (d) 3. (b) 4. e

| 45. [ b) [ 46 | @ | 47. [ | 48, [ (@ | 49, |
51 | ®) | 52. (@) | 53. | ()| 54. | @ | 55. | @) | 56. | @
| 58. |@)] 59. @ |60 |61 |@]e62|w]es|w@
65. | (d) | 66. | ()| 67. | (@) | 68. | (@) | 69. | @ | 70. | @
®[72. (@B @14 @] @] 76 |@] 77 | ® __
@] 79 [©[80 [@] 81 [©] 82 | @] 83. | 0] 84. | @ |
; 86. | (d) | 87. || 88. | @ | 89. | © | 90. | (© | 9L

93. | (b)) | 94. [ ] 95. [(@] 96 [@] 97 | @] 98 faL y
L Iﬁ

o [@] 10, @] @l s ol 6 T@l 7 o]

T e 1T IL T @ |12 [ @) 18, [ | 14, E;
. |© 116 1@ |17 | @] 18 (@] 19. [ &) ]| 20 | @] 20 | :L |
2. J@ 124 (]2 [ »)] 26 (0] 27 @] 28 | @] |

| 30 | ®) |31 | b | 32 (]33 [ 34 @] 38 | @
37. 1 @) | 38 | b)) | 39. [@ ] 40. | @) | 41. | @ | 42. TL :
| 44. | (a) B H |

#

100. | (@) | 101. | () | 102. | (¢) [ 103. | (@) | 104. | (®) | 105. | (¢)
107. | (@ | 108. | @ | 109. | @ | 110. [ @ | 111. | &) | 112. | @) L
114. | (&) | 115. | @ | 116. | @ [ 117 [ ©) | 118. ] (@) 119. | @ | 1§
¥ . () | 125. ) () | 126. | (@ L
121. | ) | 122. | ®) | 123. | (@) | 124. | (@) | 125, | (€) : i

128. | (¢) | 129. | (¢) | 130. | (¢) | 131. | (b) | 132. | (b) | 133. @ | #
135. | (o) | 136. | (c) [ 137. | (¢) | 138. | (b) | 139. | (b) | 140. | (b) il
142. | (d) | 143. | (@) | 144. | (c) | 145. | () | 146. ®) | 147. | ®) 1.
149. | @ | 150. | (b) [ 151. | () | 152. | (@) | 153. | (c) | 154 ()
156 | @ | 157. | () [ 158. | (@) | 159. | (@) | 160. | () | 161. .@ .
163. | (&) | 164. | (a) | 165. | (b) | 166. (b) | 167. | (c) Rm...@:y s
170. | @ | 171. | () | 172~ () | 173. | d) 1o

& | 178. | @ [179. | @ | 180. | &) | 1811 (©)

) | 185. | ) | 186. | () | 187. | @)

o1 @ [192.] © [193. | @ | 194. 1 &)
198, | @ [ 199- | @ |200- | © MM“.
205. lmm. 1mm.al | @) 207. | @) ]
=S e 2T
o | 220-| @ [ 221 | @ | 222.

..11:..m.u,.w...l_ @NL.NNQ. (@) | 229.

b
\H\MHI_IMMWL 234. | () 235. | (d) | 236.
] .\I-Il.llllll.

|~
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= .j" ' 244‘ l(‘) . 2 1
[239. [ ©) [240. ] (©) | 241. | @ | 242 | ®) | 233 | 2~ =38, Q)
. c) . | () . = = | |
[ 246. | &) | » : " b) : : Sl
246. | (a) | 247. | (a) | 248. | () | 249- | { 257. | (¢) | 258. | (@) | 259 | {:‘}
- | : - 4 -6_ \C - 1 | . - | )
253. | (c) | 254. | (c) | 255. | (&) | 25 _ s | f\.\
260. | (@) | 261. | &) | 262. | @) | 263. | (&) | 264 (bj z:z %’i‘ﬁ\g{
267. | (©) | 268. | ©) | 269.] @ | 270.| @ | 271. | @ | 272. —EL 2T )
- = . \C) - W = \
274 rrj 275. o) 276 5 1 277. | (@ | 278. | (@) | 279. _ l%
ED o 28;. > 283. | () | 284. | (@ | 285.| () | 286. | @) | 287 ()]
= | \C) = () . < = T T ﬁ“\
| 288. | (b) | 289, 290. (b ——— 1

Hints of selected question

18. The GDP deflator is used to take inflation out of GDP.

Nominal GDP

Real GDP = x 100
GPD Deflator
20.
Nominal GDP
Rﬁa! GDP = x
GDP Deflator
1150
= — « 100
143.75
= 800 Units.
21.
Nominal GDP
GDP Deflator = x 100

Real GDP
But, nominal GDP = Real GDP in Base Year.
Therefore, GDP Deflator in base year will be equal to 100.

23. The price level has fallen since GDP Deflator i
24,

Nominal GDP = Real GDP x —%. ”cle Index
00

475x118
100
560.5

s less than 100 at 7

s
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